20174 2R A 201744 A28 (B) 6I510%> ~ 7559 (1R5RI454)) FIKEES T VA - FHERE
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
R 23— R 2 0 2 0 0 1 1 6 11 2
Bt AT A VIRILZR 0 0 0 0 0 0 0 0 1 2
MVPGETE) [ )l EK EEN
I | | | | | | |
MVPEEF) | KERX EE
BAEFE | KERAX 1K | -7 | - [ w—nfF ] \ \ |
BT REBRA 11
HERT &6 ERF 1-1
L Ra—1LX
T8 281 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 2| A | 8|k | 0 & K| 71X
1 I | UEE=TY f (1) bik:y 2 2 1 1 1.000
2 BEH | =E =ik Bk 2 2 1 .000
3 Bi5 % =ik =-n mE (1) 2 1] 1)1 .000
4 gy | hz =7 igmy! 301 400
5 W IE—BB | dEXR ER =ik 31 1 .250
6 EmaE | 22 Q) =ik k1] 301 1] 1 1 .250
7 A =8 R Pl o &k 31 .333
8 F3E 2K =n o £2 (1) 301 1 .200
9 T8 A— =2 k% =ik 302 1 .600
10 iEE PN Bk =ik 1 11 .000
11 H Mt R R 2 .000
12 A E =ik oo 2 1 .000
13 4K B —7R Pl m 2 .250
14 B8 hEAER =% =-n 2 1 1 .250
15 KK BRE FEER g 11 1 .333
TOTAL| 34 [ 11 4] 8] 4] 1] 2 276
B 94T - A VLR
fIIE | AFTE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 aiT#E ®ano =-n %o KERK ()
2 BiTE ok B —an\ 7 2 1 |5 3 | 000
3 BiT#E S —n
4 BITE | %= g T T ]
5 BiT#E —7R =ik
o maE  |&an i I A
7 aiT#E =ik o3k
8 EiTE = =7 [ T T T T T ]
9 BiT#E Dicgm | =
10 FEEaE ] Bk = T T T T
11 aiT#E =ik &6
12 ETE FEEK =i | T
TOTAL




